Pei Chun Public School
Moduilar Assessiment 2 — 2012
Mathematics
Primary 1

Name: - { } Date: 5July 2012

Class; Primary 1 ___ Parent's Signature;

Time: 44 min Marks: { ‘ 1

- Maths Tedeher:

Section A {9 x4 marks )

A0Epd . make 17,
2. 'Write in Words.

13

3. What is the shape of the shaded paft?

124
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4. Study the picture carefully and answer the question.

Use @ as 1 unit.

The mass of the grapes is

units.

5. Arrange these nurbers from the smallest to the greatest.

19

10

smallest
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6. " Look at the picture below and fill in the blank.

Thereare .- - = . circles.

7. Look at the picture carefully and fill in the blank.

1 unit

“T)
o

.‘;;‘:. .

R N T vt rurar SR o
DAl A R SR

Bar ___ _ isthelongest.

I
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8. Tick the correct box te complete the patiern.

e

. 9. 'E'-Study the p‘iCiu‘res carefully and fill in the blank.

r rﬂz.m».ﬁ

MA P11 MA2 2012 Page 4 of 8 {Go on lo the next page)




‘Section B {5 x 2 marks )

10. .Do the sums.

{a) 17 — 3 =

by 9+6 =

11.. Look at the picture carefu!!y and gircle the coirectanswer in the
brackets.

Cup A'is { taller, shorter )than Cup B but( ialler shorter) than
- LCup C.

12. Circle the two pieces that can form the given shapeé on the left.
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13. Look at the picture carefully and answer the question.

Use O as 1 unit.

L

I

2l ooy

The mass of the bottle is

\

hottle"" '

units.

14, Study the pattern carefully and fill in the missing nurbers in the

boxes.

14

19
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Section C (2% 3 marks }

Work out the problem sums below. All working and answers must be
clearly shown.

15.

' Siti has 16 cookies,
Shie has 2 more cookies than Jonathai.

How many poo‘k-i.es does ;Jic‘aaa;than‘have‘?

Jonathanhas . - .. . cookies.

4L
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16. Look at the picture carefully and answer the questions.

Use (C_ Das 1 unit.

crayon

] ) : N
™ % .

(a) The . isas iliQian as the

{b) How much shorter is fhe safety pin than_ the crayon?

A

The safety -p‘in-is o units fsh_éﬁter‘than

the crayon.

End of 5Paperl

Setby :  MrDominic Heng
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ANSWER SHEET

EXAM PAPER 2012
SCHOOL : PEI CHUN PUBLIC SCHOOL
SUBJECT : PRIMARY 1-MATHEMATICS

TERM : SAl
1. 7
2. thirteen
3. rectangle
4. 6
5. 3,810,19
6. 5
7. E
7

8. 7
9 Z
10. a)i4

b)15

11, shorter, taller

12, A

13. 4
14. 11,17
15. 14
16. a) key, safety pin
b)2 3
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